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(i)
(ii)
(iii)
(iv)

(v)

(vi)

(vii)
(viii)

59 397-97 4 33 397 & | @t 397 rfAard & |

Y97-97 el GUS] § [a97ford 8 - @S &, &, M, 409 & |

GUE & - J97 G 1 T 16 7% Fglashcdid JHR & J97 & | T3 J97 1 HF H1 & |
Ve & - J97 &7 17 G 21 7% 37fd TY-F0F IR & J97 & | F9% J97 2 37H)
#E

QGUE - 97 T&71 22 G 28 TF TG-ITNT JBR & 97 & | I9% 97 3 37H] #T
g/

GUE T — Y97 &7 29 747 30 FG-IIRT I97 & | IAF J97 4 3H H1 8 | 57
37-Y991 4 @ Uk 39-Y97 H IR aHeq &1 =97 1397 TI1 8 |

GV T - 97 G&I7 31 T 33 % FH-3009 YHR & J97 & | Ico9% 97 5 bl H7 8 |
Jo7-97 § GHT [4hcY 787 1337 77 & | TEE, @S &, T 9T 7 7 SaRkE [dHeT BT
e 1397 77 8 | 9enef #i 57 Io1 7 @ 11 vk I97 BT IR i 8 [

(ix) &I § [ GIBanfea giemae & o7q 37e 399-99 & |/
(x) T8 BET T &, TTH R 37K 3fad &G & T o7 F71¢ 17 =0eT |
Wus <h
57§11 d 16 T TgIahedid JhR & 1 31 & Jo7 & | 16x1=16
1.  SISIUSTERUT SIRFRIAT T T8 SRR ¥ [ThHd 8H Il &N Yol

1 IO BT SRAN:

(A) n,2n (B) 2n,n
(C)  3n,2n (D)  2n,3n
2. TH ST WE H 2500 JfFAaEed 7, SH § 240 @A g | @1 39 ST
@S 1 3l F3gi 9Y dTed &R (i) h e fehaHT R 2
(A) 480 (B) 720
(C) 1010 (D) 2020
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General Instructions :
Read the following instructions carefully and follow them :

(1)
(i)
(ii1)
(iv)
(v)

(vi)

(vit)

(viii)

(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.
Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks. Each question has subparts with internal choice in
one of the subparts.

Section E — questions number 31 to 33 are long answer type questions. Each
question carries § marks.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of the question paper. A candidate has to write answer for
only one of the alternatives in such questions.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION A

Questions no. 1 to 16 are Multiple Choice Type Questions, carrying 1 mark

each. 16x1=16
1. The ploidy of the apomictic embryos developing from the integument cells
and synergids respectively would be :
(A) n,2n (B) 2n,n
(C) 3n,2n (D) 2n,3n
2. A DNA fragment has 2500 nucleotides, out of which 240 are Guanine.
How many bases having double hydrogen bonds between them does this
DNA fragment possess ?
(A) 480 B) 720
(C) 1010 (D) 2020
57/3/2-13 3 VAWV P.T.O.
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3. fiu=m & o ofiS Scum o 1 urrelt 1 fae™ 369 % o Il 9iedi H geT
8
A) T (B) Hrei-E
(C) HTH (D)  Terfereeh

4. R YR 3 W@d: S % g S 39 T gy @i o e | gaes ot
3G TN fohaT, 98el | SATIRigd FATesh aol :
(A)  Sffaa e (B) Hd e
()  Shfa Shamy (D) ¥a Sffary

5. Fis H 1850 % G¥h o qYEIq URE-SENIRIU T H UTh{deh a0 % TWTE
HALTEY I U@l dTel ANl hl T&AT, TR (FTed) T ared AT shl T T 6
e
(A) A (B) Ak oft
(C) QFI i T&ar ®A oft (D) gFI i Tw&a At ot

6. A 9 ITcl HUGTH WY T FehUl Yad IF T TISTH died oh |1 hU
T | Fy WS T UTH Fafd ST SOl Shi- 9T 9TH Tdfd S ATIT o
(A 50% A : 50% &
(B)  25% TS : 50% 394 : 25% ATA
(C)  50% AT : 50% T[T
(D) 25% AT : 50% TS : 25% 3

7. T=fafes wmady foer @ @ A @ (k) 3R e (FF),
TR {da Tiaq TequT a0 §€3 TSI I<h 8Id & ?
(A) e fagm (B) <R fagm
(C) FAEThee fGgM (D) WIS fGgm
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3. The mechanism to produce seeds without fertilisation has evolved in the
given family of the flowering plants :
(A) Asteraceae (B)  Solanaceae
(C) Malvaceae (D) Liliaceae

4., Louis Pasteur dismissed the theory of spontaneous generation by his
experiments using pre-sterilised flasks and :
(A) Live yeast (B) Killed yeast
(C) Live bacteria (D) Killed bacteria

5. After the 1850s in the post-industrialization era in England, the expected
effect of natural selection on the number of white-winged moths as
compared to the dark-winged moths was :
(A) Less in number (B) More in number
(C)  Both were less in number (D)  Both were more in number

6. A Snapdragon plant bearing red colour flowers was crossed with a
Snapdragon plant bearing white colour flowers. The F; progeny on
selfing produced the progeny in the ratio of :
(A)  50% Red : 50% White
(B)  25% Pink : 50% White : 25% Red
(C) 50% Red : 50% Pink
(D)  25% Red : 50% Pink : 25% White

7. In which of the following chromosomal disorders do individuals have
short stature, underdeveloped feminine character and sterile ovaries ?
(A) Down’s syndrome (B)  Turner’s syndrome
(C)  Klinefelter’s syndrome (D) Patau’s syndrome

57/3/2-13 5 VAWV P.T.O.

.
Qcollegedumas
India’s largest Student Review Platform



® @

PCR # ST & Ya¢d & fou fefeifad & & H-81 Sushmehl & dmaeie
&l TE! IR ¥ FEfud @ g ?

5' 3’
(A) 5Lllg 3 5
3F I I | | 5f
5' 3’
(B) " g1l 5
3!‘ -|_|_ 5!’
3 5
(®) 3 o g —73
5F r
3 o'
(D) 5 g CAEEEE 5
5r | | | | 3f

9. U Wit SR, fogw, widh, fared qon et Argmt 9 gial I eqon @ difsd 7 |
I8 A0 g 1T T R

(A)  HATET (B) <TISHige

(C) M= oM (D) =i

10. TH SN B F Foms w UNH,Cl Ih Hagd wem § fosfaa foeen
(14N “T3a *1 goohl TueyTies B) | 3T UvEIq 3§ ATEeNH o Wi
goeertae  (19N) I "adq qieem | 6 difea as gafdia fomam mom | 6 difea
% §T¢ 3k ST I fshita feram T 9en CsCl gFcd YauTaT T 3T9eh=5u gRl
faseffa fomm T | CsCl o9cd JaUAT 37Ukl W EUAT & T T

(Eeoh1/Hehitd /aRY) 3R ufei o AU il TgaH Hifre |
(A) i : W, 1:16
(B) &bl : W, 1:31
(C) ¥ehid : 9/, 1:31
(D) ®ohl : A, 1:05
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Which one of the following represents the correct annealing of primers to
the DNA to be amplified in the PCR ?

5 3’
@ 5, .
3F Illl 5f
3% 3’
® g 315
3r -l_l_ 5r
3 o'
(®) 3 o 5 3
5F r
3 5’
(D) 5 g S’J—I—I—L5r
5! IIII Sf

9. A patient is suffering from fever, chills, cough, headache and bluish
finger nails and lips. These symptoms are of the disease :

(A) Malaria (B) Typhoid

(C) Common cold (D) Pneumonia

10. In an experiment, E. coli is grown in a medium containing 14NH4C1.

(1N is the light isotope of Nitrogen) followed by growing it for six
generations in a medium having heavy isotope of nitrogen (15N). After six
generations, their DNA was extracted and subjected to CsCl
density gradient centrifugation. Identify the correct density
(Light/Hybrid/Heavy) and ratio of the bands of DNA in CsCl density

gradient centrifugation.
(A) Hybrid : Heavy, 1:16
(B) Light : Heavy, 1:31
(C) Hybrid : Heavy, 1:31
(D) Light : Heavy, 1:05
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11. S99 G ST & Sidehd e & T, Tt Shigd a1 gEe S gl ST
fopu U EiuAT g S 1 Eid B

(A IHG TFEeHT (B)  GIeHIHCT TEHgRaT
(C)  TIIRIBST Hicars (D) &Fifsera s%gTs

12. Wohld # I arc gAfe Eeh fofu €t gemeq 3uaey 8, & fau fEld
W‘@%W%

(A) E (B) E
g :

HqHy —> qHy —>

(C) E (D) E
E ;

Gy — qHy —>

Yo7 G 13 @ 16 & 178, 31 %97 1T 7T¢ § — [47H T %1 7159 (A) a9T gl &1
FRI (R) ZRT 3led 137 71 & | 37 941 & &gl I 7149 3¢ 7@ &isl (A), (B), (C)
3% (D) 7 & gaa< Ao |

(A)  AMHAT (A) 3 RO (R AT Tal 8 3T hR (R), AHAT (A) hi
g ST LAl 2 |

(B)  AfYH (A) 3T SR (R) THI T&l &, T RV (R), AT (A) H
& AT 7T i 8 |

(C)  AfYHH (A) HEl B, =g SR (R) TAd 7 |

(D)  3IfYHe (A) TeId 8, T HROT (R) Tl 7 |
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11. For the replication of the first recombinant DNA, Stanley Cohen and
Herbert Boyer used the DNA polymerase of :
(A)  Thermus aquaticus (B)  Salmonella typhimurium
(C)  Escherichia coli (D)  Haemophilus influenzae
12. The population growth curve applicable for a population growing in
nature with limited resources available to them will be :
& 2
"% w
o =]
Q Q
o o
o =
A & ® &
= L
= =
S g
A~ : A .
Time — Time —
= z
o o
Q Q
< es
(C) -g (D) ,5
© =
3 =
= 2,
o o
A~ . A )
Time — Time —
For Questions number 13 to 16, two statements are given — one labelled as

Assertion (A) and the other labelled as Reason (R). Select the correct answer to these

questions from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

57/3/2-13 9 VWMWY P.T.O.
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13. YT (A): AR AA— H JHAS FCAGRR YO AT 7, S I8k
YT ITRYUT | faehied g ST & |

PRI (R) : THAS SISUSgR & ehe YUY H fe@ gran & a1 T YO o
foerflra & T 7 |
14. 37497 (A): Gehgfedl B IR oe@ (Jfdfeif) & s1eomkes &l &M &
foTT aHeyA (TTSiET) UshH | ST 9SdT § |
PRI (R) : Hehglohdl T TRWh TJor@ (UfIfaIfd) H =xheh 9 T=heh gl
BId g YT 37k AThT BId & |
15. 379%g7 (A): fTociies arnfUaet o SAfedisH uaeddn R 38 THATH
forsror & wgTaT T B |
SR (R) : faenifea-ae aTfUaet 1 LR JIHIR W d9qd 8ial @ |
16. 37¥Hg7 (A): Trel =afth g Ueehigial o forhiell (sgd 3ifo wHy <)
TN & Fhd i afa (Raf) wdedt
HRI (R) : UGehlgicl ohl od T & TGl ARk o P IHER & fow
e qUT T(H Hee 1 BRI 59 AT 7 |

Qs @
17. (F) TUh TICT qIGT H T <% o QN &+ dlcl THEA o Hew@qul
A& ferfeT | 2
HAAT
(@) () AT T R SEeS a7 HSfoEi o T S1d Sqlg T &
% S F9Y 1 TR w90 HiT |
(i) T ST I W $H §Y T FHR fafay | 2

18. e (JiehT) oI B ? 99 39 IR | Ufase A ST B, d I8 fohw Sam W
(9hR) 1 wtar 7, fafegu | 2

57/3/2-13 10
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13. Assertion (A) :
Reason (R) :
14. Assertion (A) :
Reason (R) :
15. Assertion (A) :
Reason (R) :
16. Assertion (A) :
Reason (R) :
17. (a) Write
(b) (1)
(11)
18.
the body.
57/3/2-13

The zygote gives rise to heart-shaped embryo and

subsequently proembryo in most angiosperms.

The zygote is present at the micropylar end of the embryo

sac and develops into an embryo.

Primary transcripts in eukaryotes are subjected to

splicing to remove the introns.

Primary transcripts contain both exons and introns and

the introns are non-functional in eukaryotes.

The stirrer facilitates the even mixing of oxygen

availability in a bioreactor.

Stirred-tank bioreactors generally have a flat base.

The chronic use of alcohol by a person leads to cirrhosis.

Alcohol addiction at times becomes the cause of mental
and financial distress to the entire family of the addicted

person.

SECTION B

important features of ‘humus’ formed during the

decomposition cycle in a terrestrial ecosystem.

OR

Graphically represent the relationship between species
richness and area on a log-log scale for bats and fishes.

Write the equation for the relationship as on a logarithmic
scale.

What is a vaccine ? Write the basis on which it acts when administered in

11 VWAV VWV WWWAAWVVNVAAWVVVIWWWAWVY P_T.O_
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19. Scodud (VEEefid) derdies B 3T9ATE W aTefl SrRifafy &1 Ieci@ hHIfe |
39 Th1eh o Tohral G ATHI <hl g1 A5 | 2

20. m-RNA & T FIcd-H TG TS Il Th Alshd IS TGl hl He @
HAT 3, o feu T fehe (ST W fomm Hifse qur 3m few 7u = % W
ﬁﬁﬁgQ:

mRNA 5 - UCAUUACCACGAUUCUUUAAAAGA -3’
(%) Afg 5d (Uled) Tehe (HIEH) B U % TIF W ¢’ Ifawniud & I, af
fqu MU ypei (i) F fohaq THHT o ST ? 394 I hl ST
T |
(@) 9% mRNA % ¥9H mRNA § J&l @Y The (HeH) # A ¢ h
TYE W U’ &, 9 GIANd 89 a1l TAILEs H UHHEl 370l shl &
fafau | 3o IR < =rEETaar fag i | 2

21. Tofvm oes act ST @i o W @ STa 1 ToeH (STFEIBieSh ) JFRT
& fTu TSl A, B @1 C &1 318999 ek M feu 7u yeai & 3w S .

g i P
i we g i R nes ﬁl e ¥

]1
SIS ST
o F —> Jﬁgﬁw |ﬁ'g?r%:rm
— [Jo
T RIS
T A TS B A C

(%) @ wASEI AT BH & fpad o uAu el &l s g3 <@ qu
T 2 379 I ! =ArFETddn fag hifsu |

(@) GASH-CH Idu [I T ¥ hi9-Ht U8l oI ST el areft 8 | T 3T
I A fag KIS | 2

57/3/2-13 12
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19. State the procedure followed in the technique of amniocentesis. List any

two advantages of this technique. 2

20. Consider the given data of a hypothetical small portion of mRNA that
codes for a functional polypeptide chain and answer the questions that
follow :

(a)

(b)

mRNA 5 - UCAUUACCACGAUUCUUUAAAAGA -3’

How many amino acids will be formed from the given codons, if

substitution of ‘U’ by ‘C’ takes place at the 5™ codon ? Explain your
answer.

Write the number of amino acids that would be in the polypeptide
synthesised by a similar mRNA as above, where in the fourth
codon instead of ‘C’ there is ‘U’. Justify your answer. 2

21. With reference to the set-ups (A, B and C) given below, of the
electrophoretic separation of a mixture of DNA fragments of varied

lengths, answer the questions that follow :

Well rweﬂ _Well
_,M Cathode Anode ]

DNA fragments
in well — :I I
Current Current T
Gel —— applied applied
particles L :] I
Anode Cathode
Set-up A Set-up B Set-up C

(a)

(b)

57/3/2-13

In which one of the two Set-ups, A or B, would you see the DNA
fragments separated and why ? Justify your answer.

In Set-up C, which one of the two, I/1I, are the bands of longer
fragments of DNA ? Justify your answer. 2

13 VWAV VWV WWWAAWVVNVAAWVVVIWWWAWVY P_T.O_
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22. (%) WHA I H FOF SHARY qAT §Heh HHATARGd W i ATHIThRT
I
@ St eI sl iasfiear § wgEes @
i) S g foRlle (PR USTT) oM FAT Ucg&el o g H
HER B
(iii) SN HE TSI o HIfEhIGeT § T hdl &

(@) #Wa H fu=H % SR SEYEHIVAT ol ohE FTd fohal ST & 2 Jeaid
hINTT, | 3

23. (%) () SENE 999 | 9 q0ed 7 bl STULT &L hT ITAN D b @
@ IO hi AT ST, |
(i) S HETE 9 H T g8 hed (W) % FRHl T 3w #1 Ieoie

HIT | 3
HAAT
(@) fafremst gro amm=ra: F=faRaa T & Iw=m ° 3w fr S am
SeElshd U] qAT Ik HEASE T FId ol T8 IReT 3

(i)  HEIRIEIA SHIH

(i) BN HITEUA o I &
(iii) 37 TfaRqor
57/3/2-13 14 WAAAAAAAAAMAAAAMAN,
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SECTION C

22. (a) Draw a diagram of a human sperm. Label the following parts in it :
(i)  Which helps in the motility of the sperm

(ii)) Which helps in penetrating through the corona radiata and

zona pellucida

(iii) Which enters into the cytoplasm of the human egg

(b) Mention how is polyspermy prevented during the course of

fertilization in humans. 3

23. (a) 1) List two major reasons for using cow-dung in a biogas plant

instead of using domestic sewage.

(ii))  Mention one use of the unspent slurry of the biogas plant. 3

OR

(b) Name the bioactive molecule and its microbial source generally

used by physicians to treat the patients for : 3
(1) Myocardial infarction

(ii1)  High blood cholesterol level

(iii) Organ transplantation

57/3/2-13 15 WAV P.T.O.
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24, TR o WGl % 9 T (JU) FHI/EHE (Viv) a1 77 Hi feafa e /s
(A/a) 9T N4 o =9 O H1E (FH01) AT T | A= & 78 qiferent § ‘@, b
TAT ¢ hF H T oh IANEY (HHICEY) T F; Hafd % HHICET i STERH
T |

7% 98 (F127ET) F; 981 (#i1er57)

(a) ST, & x dhe, e 6/16 Htha, e
2/16 G%e, 37

6/16 ST, e
2/16 ST, 3rEf

(b) ST, efiT x H%e, I 1/4 STt 3ref
1/4 s, 37
1/4 The, i
1/4 %<, 37

(c) oI, s7efia x oY, arefia 3/4 s, Srefi
1/4 |%g, A&

ST ‘@’, D qAUT C b IAHh il H Tdeh b b S(HICIST bl HAThel hillg
(9dT <IN | 3

25. (%) TARLY & Al Hl Ieoi@ HIfT |

(@) TgEs 4 drenfifera < ‘smgeiugsnd’ qean weng fafrn & saren
HiT | 3

57/3/2-13 16
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24, Three crosses were carried out in pea plants with respect to flower colour
violet/white (V/v) and flower position axial/terminal (A/a). Study in the
table the crosses ‘a’, ‘b’ and ‘¢ where parental phenotypes and their F,

progeny phenotypes are given.

Parental plants (Phenotypes) F; Progeny (Phenotypes)

(a) Violet, axial x white, axial 6/16 white, axial

2/16 white, terminal
6/16 violet, axial
2/16 violet, axial

(b) Violet, axial x white, terminal 1/4 violet, axial

1/4 violet, terminal
1/4 white, axial

1/4 white, terminal

(¢) Violet, axial x violet, axial 3/4 violet, axial

1/4 white, axial

Find the genotypes of each of the parental pairs of crosses ‘a’, ‘b’ and ‘c’. 3

25. (a) Mention the advantages of ‘ART’.
(b) Explain the ‘ICSI’ and ‘A’ methods of assisted reproductive

technologies. 3

57/3/2-13 17 WAV P.T.O.

.
Qcollegedumas
India’s largest Student Review Platform



26. (%) I QT T AT AW fARIT FFEehT ITATT TMiereh Iy Sy Ut e
(GM) SUTH BEA & NY JIR HH H AN T 58 T ) foma S

g |
(@) Sfem (GM) U™ ®E 6Ii o JTHAY T Tfaly i o fhe gr aqed
Bl 8, ST HIfT | 3
27. ufsetfmm anifhg  377fpw dqen WiteR i T TIfd & o9 FEUHING
(RERATAEEH) Fa9 T FUH HIT | 3

28. T W 1T (VQ) Il HEEAA H T&+ aTct Al shl e H g Tt IHadq ol &l

Wﬁfﬂ?ﬁ‘qm’ﬁm‘?ﬁ ol T fog g el T 8 | SR 3teRH hifvg
ddqn Ik M fou MU gl % IW GNT | R FU qAT g |9 TAAl Ala
(SrTelt / STl ) g fEfua fohw 7w E |

gafse-ueh gafsea

j.,,sj"iy,_,n.,ld
mﬂaﬂ«" e

(%) afe Tafee-us & s favwes 1 smafy 9% 8, @ Twgmwsh wmEt qen
oSt gt |iai (F9l) 1 ST 1 g it |

(@) fawm &t 3@ feafafa &1 9w fafee Sos woreey gafseus @
THfseq w1 foshr g3 | 3

57/3/2-13 18
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26. (a) Give the scientific name of the bacteria widely used in
biotechnology to create a GM cotton crop resistant to bollworm
attacks.

(b) Explain how GM cotton crop is able to resist insect attacks. 3

27. Describe the mutualistic relationship that exists between the
Mediterranean orchid Ophrys and a bee species. 3

28. A population of snakes lived in a desert with brown sand. Study the
drawings given below showing the change in the population from ‘one’ to
‘two’ over time and answer the question that follows. Brown snakes and

Grey snakes are represented by alleles A/a (Dominant/recessive).

Population-one Population-two
(Migration of Birds)

- 3
MJ..J.,J e

ool o A “JA-J'J
3,

(a) If the frequency of the recessive trait is 9% in population-one, work
out the frequency of homozygous dominant and heterozygous
dominant snakes.

(b) Name the mechanism of evolution that must have operated so that
population-two evolved from population-one. 3

57/3/2-13 19 WAV P.T.O.
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85+
80-84
75-79
70-74
65-69
60-64
55-59
50-54
45-49
40-44
35-39

g (i H)

30-34
25-29
20-24
15-19
10-14

5-9

Q-4
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85+

BO-B4
75-79
70.74
65-69
B0-B4
55-59
50-54
45-49
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40-44
35-39
30-34
25.29
20-24
15.19
10.14

5.9

0.4
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SECTION D

Questions no. 29 and 30 are case-based questions. Each question has
3 sub-questions with internal choice in one sub-question.

29.

Study the figures given below that depict the comparative age

distribution of human populations in Sweden and Rwanda. (International
Data Base 2003) and answer the questions that follow :

85+

80-84
75-79
70-74
65-69
60-64
55.59
50-54
4549
4044
35-39

Age (years)

30-24
25-29
20-24
15-19
10-14

5.9

0-4

Sweden

Females

2.7% 2.5%

14

85 +
8084
75%-79
70.74
£5.59
B0-64
55.59
50.54
4549
40-44
35.39
30-34
25.29

Age (years)

20-24
15.19
10.14
5.9
0.4

10%
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ST TTTE) CrES
8% Erl"n 4!% 2% 0% 2% 4% B% 3%
Percent of population

0.0% | 0.1%
0.2% l 0.3%
0.2% l 0.3%

0.4% - 0,535
0.5% . 0.6%

Rwanda

Females

Percent of population
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(%) TGTET % Jgg YR Il Y TRHE ¥ 1 sy e S 9ehar @ 2
foa o feu MU sAfeRgi 6 TEREA 8 3TUH I H guYH (gfse) Hifsr | 2

(@) e i g &1 37y faawor MR & Y d T Th S =iEl

2 | I8 @1 30T LAt & ? 1

(M) W fou MU wied & SEe oy R % yehr %1 9m fofae | 1
YT

(M)  3ITYH < U el W Iy fRfrg %1 weR ffen | 1

30. Tr=fciaa dafteag i ggt 3T fdU U Tl o I GRT |
QAT ST, SEnfiehl # Ufdeed UAEH Sl I9EnT foRA ST ', it d
g 1 fofime oTshn 1 T8 o 38 foag W *ed & | BamH I 6! TR &1
T Tiqeed TARH 7, S 5’ G-G-A-T-C-C 3’ % UgaM 3ThT & 99 H Th
TS I G YT G & &9 Hledl & | Aafeh Alu I 989 3TIHA 5 A-G-C-T 3’
T FY T 3 ITIHAI o T ool I G AAT C o6 o1 § HhledT & |

(%) 3fg fou U Suau 5 &l B & T Alu I 1 390 fohaT S,
AT & fohad @ T ? §94 ITcl Tieh @S Wl TshH ITeh! Faurdl o
gy fafgu | 1

5 C-C-G-T-A-G-C-T-A-T-C-A-G-C-T-G-G &

I O e e e A I

33 G-G-C-A-T-C-G-A-T-A-G-T-C-G-A-C-C ¥

(@) feu Tu 3Ht SeAn TN W AN ST 0] 99 % folt BamH I
YT Alul Sfdsieq Tameat O o forgent Stfemmar (wefiesar) & Sroft
I /=41 2 1

(M) fgpuech duAu & q T ¥ FYF % qvE SIUAT %k Q Toehl
e o fau fee faftee wo@ (fog) w gfdee TomsH rl *am 2

gfeed WERIFATS gl ST § TgaH W arel fafsmse gfaaess

3TISHH 1 THATIN WG /AT+eh A1 fIRa | 2
AT
(1) e WERIFATS EcoRI §RI EITAT W qg=H S dTel fafyrse qg=H
I ThT ! Tofau | 2
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(a) What can be inferred from the very broad base of Rwanda’s age
pyramid ? Support your answer with the data provided in the figure. 2

(b) Sweden has an age distribution that is approximately of the same

width near its base as at the apex. What does this indicate ? 1

(c) Name the type of age pyramid shown above for Sweden. 1
OR

(c) Name the type of age pyramid shown above for Rwanda. 1

30. Read the passage given below and answer the questions that follow.

In recombinant DNA technology, restriction enzymes are used as they
recognize and cut DNA within a specific recognition sequence. BamH I is
one such restriction enzyme which binds at the recognition sequence
5" G-G-A-T-C-C 3’ and cleaves this sequence between G and G on each
strand, whereas Alu I binds at the recognition sequence 5" A-G-C-T 3’
and cleaves these sequences between G and C on each strand.

(a) If Alul is used to cut the given DNA strand, how many DNA
fragments would be formed ? Write the sequence of each fragment
formed with its polarity. 1

5 C-C-G-T-A-G-C-T-A-T-C-A-G-C-T-G-G ¥

N T e A S R
3 G-G-C-A-T-C-G-A-T-A-G-T-C-G-A-C-C ¥

(b) Which one of the two restriction enzymes BamH I or Alul will
preferably be used on the same given DNA strand to make a
recombinant DNA molecule and why ? 1

(c) After binding to the two strands of the double helix DNA, where
specifically does the restriction enzyme act to cut the two strands of
DNA ? Write the specific term used for the specific nucleotide

sequences of DNA recognised by a restriction endonuclease. 2
OR
(c) Write the specific sequence of DNA segment recognised by the
restriction endonuclease EcoRI. 2
57/3/2-13 23 VAWMV P.T.O.
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()  wrsFegg % HHd IXX U gfase g4 & ¥ ¥ Hshild Afth
ATl O71%c7s A=l g1 ¢ M deh bl & U o772 gd <
S sk 1 99 i |

(i)  w7sHETg o Sod T ® Ol 871%cly % IR gd g
Tt 1 qREeTsT sl Iooi@ hifvu |

AYAT

(i)  H&H 3TEc AT GeH 3T9E  §i9 &l I fARay |
(i) W & ANFE 7g Thdl @ FemTEs a6 =
Hifee |

O

(i)  TCHRETY I WicdTgd & 3q It diei g fasefaa fhedl = m
IRBl 1 =TS HINT |

(i)  IY T I gdicHTRd =1 Hid 8 ? his Ush R0 fIRkgu |

AYAT

Teh T AHS Sl o 3ATdd <5k bl STSRRN qeT TSR JTaen3t i
T YR qT SRR gHHT i qfHert o 1Y fAfaRaa Jaenst
% 3Tald hifSu :

(i)  Yohld JTaET/IgUigHd JTaeel

(i)  @Tel SrerEAT

(i) T TR

“foysht staeen | gl Uelldl o J9TE i Tase A agauiean

(preiftmg) o ufafeam gt 2 7 uma ®few st ABO <t asmrfa &
HERAT 8 U hl =ra ST |

AYAT
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31. (a)
(b)

32. (a)
(b)

33. (a)

57/3/2-13

SECTION E

(1) Describe the life cycle of Plasmodium from the time it enters
the human body till a female Anopheles mosquito bites an
infected person.

(ii) Mention the two events of Plasmodium life cycle that occur
within the female Anopheles body. 5

OR

(1) Write two differences between malignant tumor and benign
tumor.

(ii)) Explain any three diagnostic techniques for the detection of

cancer. 5

(1) Explain any four devices that flowering plants have developed
to encourage cross-pollination.

(i) Why do plants discourage self-pollination ? State any one
reason. 5

OR

Explain the ovarian and uterine events taking place along with the
role of pituitary and ovarian hormones, during menstrual cycle in a
normal human female under the following phases : 5

(1) Follicular phase/proliferative phase
(ii)  Luteal phase/secretory phase

(iii) Menstrual phase

“The influence of both the alleles in a heterozygous state is clearly
expressed in codominance.” Explain with the help of inheritance of
ABO blood group in humans. 5

OR
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(b) “A group of genes are regulated and expressed together as a unit in
lac operon.”

(1) Explain the mechanism of switching ‘on’ of the structural
genes of lac operon.

(ii))  “Regulation of ‘ac operon’ is referred to be negatively
regulated.” Justify giving a reason. 5
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